Exhibit C

CERTIFICATION

- I, Wesley K. Machida, as Executive Director of the Employees' Retirement System of the State of Hawaii (the "ERS"), hereby certify as follows:
- 1. I am fully authorized to enter into and execute this Certification on behalf of the ERS. I have reviewed the Amended Class Action Complaint for Violations of the Federal Securities Laws prepared against Intuitive Surgical, Inc. ("Intuitive Surgical") alleging violations of the federal securities laws;
- 2. The ERS did not purchase securities of Intuitive Surgical at the direction of counsel or in order to participate in any private action under the federal securities laws;
- 3. The ERS is willing to serve as a lead plaintiff or representative party in this matter, including providing testimony at deposition and trial, if necessary;
- 4. The ERS' transactions in Intuitive Surgical securities during the Class Period are reflected in Exhibit A, attached hereto;
- 5. The ERS sought to serve as a lead plaintiff in the following class actions filed under the federal securities laws during the last three years;

```
Abrams v. Intuitive Surgical, Inc., No. 13-cv-1920 (N.D. Cal.) In re Medtronic, Inc. Securities Litigation, No. 13-cv-1686 (D. Minn.)
```

6. The ERS is currently serving as lead plaintiff in the following class action filed under the federal securities laws during the last three years:

In re Medtronic, Inc. Securities Litigation, No. 13-cv-1686 (D. Minn.)

7. Beyond its pro rata share of any recovery, the ERS will not accept payment for serving as a lead plaintiff on behalf of the Class, except the reimbursement of such reasonable costs and expenses (including lost wages) as ordered or approved by the Court.

Case5:13-cv-01920-EJD Document48-3 Filed10/15/13 Page3 of 5

I declare unde	r penal	ty of perjury,	under the	laws of	the Unit	ed States,	that the	foregoi	ng is
true and correct this _	10	day of Octo	ber, 2013.						

Wesley K Machida

Executive Director of the Employees' Retirement System of the State of Hawaii

EXHIBIT A

TRANSACTIONS IN INTUITIVE SURGICAL, INC.

Transaction Type	Trade Date	Shares	Price Per Share	Cost / Proceeds
Sale	02/13/12	-20.00	\$498.53	\$9,970.60
Purchase	08/07/12	270.00	\$495.57	(\$133,804.25)
Purchase	08/08/12	130.00	\$500.76	(\$65,098.61)
Purchase	08/08/12	100.00	\$500.76	(\$50,075.85)
Purchase	08/10/12	200.00	\$494.61	(\$98,921.00)
Purchase	08/10/12	100.00	\$495.85	(\$49,584.50)
Purchase	08/10/12	2,589.00	\$495.87	(\$1,283,804.32)
Sale	08/13/12	-2,889.00	\$508.31	\$1,468,507.59
Purchase	11/13/12	1,733.00	\$536.17	(\$9,291,821,.61)
Purchase	11/13/12	1,733.00	\$536.17	(\$9,291,821,.61)
Purchase	11/20/12	11,867.00	\$538.18	(\$6,386,591.55)
Purchase	11/26/12	6,000.00	\$532.64	(\$3,195,834.00)
Sale	11/30/12	-50.00	\$529.31	\$26,465.34
Sale	12/27/12	-220.00	\$486.04	\$106,927.77
Purchase	01/29/13	140.00	\$574.57	(\$80,440.16)
Purchase	02/01/13	170.00	\$582.19	(\$98,972.73)
Purchase	02/07/13	140.00	\$569.86	(\$79,780.90)
Purchase	02/20/13	300.00	\$565.00	(\$169,499.61)
Purchase	03/13/13	576.00	\$509.33	(\$293,374.08)
Sale	03/18/13	-576.00	\$476.92	\$274,705.40
Sale	03/21/13	-500.00	\$490.10	\$65,673.95
Sale	03/22/13	-500.00	\$490.00	\$244,998.50
Sale	03/22/13	-600.00	\$485.39	\$291,236.64
Sale	03/27/13	-340.00	\$492.26	\$167,368.03
Sale	04/03/13	-360.00	\$497.83	\$179,218.98
Sale	04/11/13	-350.00	\$509.91	\$178,469.27
Sale	04/15/13	-370.00	\$510.41	\$188,851.29
Sale	04/17/13	-430.00	\$503.71	\$216,596.89
Sale	04/19/13	-1,690.00	\$472.65	\$798,776.47
Sale	05/17/13	-300.00	\$482.99	\$144,896.82
Sale	06/18/13	-390.00	\$506.29	\$197,452.28
Sale	07/09/13	-100.00	\$413.82	\$41,382.00
Sale	07/09/13	-200.00	\$414.45	\$82,889.08
Sale	07/09/13	-483.00	\$414.43	\$200,170.75
Sale	07/09/13	-600.00	\$410.73	\$246,440.40

Tuesday Tuesday	Trade Date	Chanas	Duise Den Chans	Cost / Proceeds
Transaction Type	Trade Date	Shares	Price Per Share	Cost / Proceeds
Sale	07/09/13	-1,300.00	\$418.40	\$543,923.25